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2019
Part-ll
COST & MANAGEMENT ACCOUNTING

(General)
Paper-G4
Full Marks —100
Time : 3 Hours

4. The Questions are of equal value for any group / half.
v The tigures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

Group - A
(Cost Accounting)
Marks — 45
1. Answer any two questions : 3x2
(4) Following particulars — 1 ; x2
- (i) Find out the EOQ level

(i) Average stock level

Monthly demand — 500 units cost of placmg
order per unit = Rs 12 _

P.T.O0



Normal usage 60 units per week minimum
usage 30 units per week maximum usage
90 units per week delivery period 4 to 6
weeks. 3

(b) Whatis idle time ? Explain with example the
different types of idle time. 3

(c) Cost of materials = Rs. 8,000
Direct wages = Rs. 6,000

Worker overhead 25% of wages
Establishment & General expenses 5% of
works cost. ¢

Profit 25% of cost.

Find out (i) Prime cost (ii} works cost (iii)
Selling Price (total) 3

(d) What is machine overhead ? What are the
difference between Normal loss & Abnormal
loss. 1+2=3

2. Answer any three questions - Bx3 -

(a) A manufacturing company purchesed and
used a certain material in the following order :
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Date
2010
Jan 1
4

6

10

15

20

23

Particulars units unit cost

purchases 800 5-00
Purchases 300 4-20
lssues 500 —
purchases 800 4-50
Issues 800 —
Purchases 300 5-00
lssues 100 —

Prepare a stores ledger, pricing the issues at
FIFO method. 8

{b) .

A worker takes 80 hours to do a job for
which the time allowed is 100 hrs. His daily
rate is Rs. 2.50 per hour. Calculate the
works cost of the job under the following
methods of payment of wages.

(i) Time rate

- (i) Pricer rate

(i) Halsey Plan

(iv) Rowan Plan

Additional information :

(i) Meterial cost Rs. 120

(i) Factory overhead 125% of wages
2+2+2+2
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(¢) The following data relate to the manufacturing
of a standard product during the four-week
period to the June 2015 : |

Raw material consumed  Rs. 40,000

Wages Rs. 60,000

Machine hour worked 1000

Machine hour rate Rs. 5

Office overhead 20% of works cost
Selling overhead Rs. 6 per unit

Unit produced 20,000

Unit sold 18,000 @ Rs.20 per unit

You are required to prepare a cost sheet

showing the cost per unit and profit for the __

period. 8
(d) (i) What is over or under absorption of
overhead?

(i) What do you mean by recovery of

overhead? How can it be done? 3+5

(e) (i) Whatis contract costing? What do you
mean by ‘Cost plus contract'?

(i) What are the advantages and

disadvantages of job costing?  4+4

() () What do you mean by ‘Abnormal loss’

& ‘Abnormal Gain’ in process costing?

(i) Write down characteristics figure of

process costing. 4+4
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3. Answer any one question : 15x1

(a) From the following particulars calculate the
machine hour rate :

Cost of the machine Rs. 2,00,000
installation charge Rs. 20,000
Rent of the shop per month Rs. 3,000

insurance premium for machine Rs.1% of
. capital cost p.a.
. Electricity charges for the shop per month
Rs. 3000

Repairs & Maintenance per month 0.5% of
capital cost
Supervisor's salary per month Rs. 1,800

Rate of power charges for 100 units Rs. -55

The machine consumes 16 units of power
per hours.

The machine occupies 1/3rd of the shop
area. It's life is 10yrs. and anticipated
scrap value is Rs. 10,000. The supervisor
devotes 1/4th of his time to the machine.

Estimated idle time : 50 hrs. in a year.
Normal working day during a year

250 days of 8 hrs.
50 days of 5hrs.
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(b)

On 1st April 2015 Contractors Ltd started
work on contract No. 550 for the construction
of a bridge for contract price Rs. 1,80,00,000.

Budgeted cost of the contract was

Rs. 1,50,00,000
The particulars in regard to the contract for
the year ended 31st March, 2016 were as
follows :

Material issued to the contract Rs. 30,00,000

Material returned to stores Rs. 75,000

Material in hand Rs.1,80,000
Wages Rs. 50,00,000
Plant at cost (to be deprciated @ 20%)
Rs. 5,00,000
Direct Expenditure Rs. 90,000

General overhead

(allocated to the Contract) Rs. 75,000
Cost of completed work yet to

be certified Rs. 6,00,000

Up to the close of the period a total sum of
Rs. 86,40,000 being 90% of the ceriified
amount was received.

Prepare Contract Account showing the profit
or loss on the contract during the period.
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(c) The following information related to the
activities of a production department of a
factory for a certain period.

Meterial used Rs. 36,000
Direct wages Rs. 30,000
Direct labour hour worked Rs. 25,000
Hour of machine operation  Rs. 20,000
Overhead chargeable to the department
Rs. 25,000

If the cost of material consumed or Job No.
250 is Rs. 2,000 and labour charges amount
to Rs. 1650 as certain the works cost by the
following method of allocating overheads :

(a) Percentage on Direct wages
(b) Machine Hour Rate
(c‘) Direct Labour Hour Rate

Prepare job sheet the labour hours worked
for the job were 1,650 and hours of machine

operated for the job were 1,200.
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Group - B
Management Accounting
Marks — 45
4.  Answer any two questions : - 3xZ

(a) What is management Accounting? Write
down any two differences of it from financial

accounting ? 1+2
(b) State the different the sources and
application of working capital. 3
(¢) Given that 3
Stock = Rs. 1,00,000
Debtors = Rs. 1,25,000
Cash at Bank = Rs. 75,000
Bank overdraft = Rs. 75,000
Creditors = Rs. 75,000
Find out
(i) Current Ratio
(i) Quick Ratio
(iii) Absolute Liquid Ratio
(d) Given that
Stock = Rs. 2,00,000
Debtors = Rs. 1,50,000
Bills payable = Rs. 75,000
Cash at Bank = Rs. 75000
Bank overdraft = Rs. 1,00,000
Creditors = Rs. 1,00,000
Provision(s) = Rs. 50,000
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Find out 1-%2
(i) Gross Working Capital
(i} Net Working Capital.

5 Answer any three questions : 8x3

(a) (i) What are necessities of preparing
funds flow statement ?

: (i) Is depreciation a source of fund? Put
your opinion. 4+4=8

(b) (i) What do you mean by budgetary
control?

(i) Write down differences between Fixed
budget & Flexible budget. 4+4

(c) What do you mean by Factors of working
capital? Explain. 8

(d) From the following particulars prepare a cash
flow statement for the year ending 31st March,
2015.
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Balance Sheet as on
31.3.2014 & 31.3.2015

Liabilities 2014 12015 |Assets 2014 | 2015
Equity share | 8,400 8.400 |Fixed Assets | 5,400 7.220
Capital
Profit &
Loss A/C 4,400 6,300 |Stock 2,940 3,480
Sundry Sundry
Creditors 1,960 | 2,100 [Debtors 2,580 | 2,400
Outstanding Cash 450071 3,820
liabilities Prepaid Rent| 180 300
Wages 1801 240
Miscelleneous
Exp. 660; 180

15,600 17,220 15,600 (17,220

Other information :

Accumulated balances of depreciations on
31.03.14 and 31.3.15 were Rs. 960 and

Rs. 1,140 respectively.

During the year ended on 31.3.15 sales

were Rs. 18,000 cost of materials consumed

was Rs. 11,400, expenses for wages
Rs. 1,380, Rent Rs. 360, Miscelleneous
Expenses Rs. 2,820 and Depreciation

Rs. 180.
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(e} Mr x wishes to start a new business and
give the following information :

1.
2;

Total sales in a year 12,00,000

Fixed expense 2,000 per month and
variable expense 5% of turnover
Selling price is 25% in excess of cost
price.

Expected cost turnover is 4 times a
year.

The sales and purchase will spread
evenly throughout the year. All sales
are for cash. Calculate the estimation
profit and working Capital requirement.

(f) From the following balance sheet and other
information calculate the required ratios :

Liabilities Amount | Assets Amount
6% preference share [1,50,000 | Goodwill 20,000
Equity Share Capital [2,50,000 | Land & Building | 2,50,000
General Reserve 20,000 | Machinery 1,75,000
Profit & Loss Account| 15,000 | Furniture 10,000
5% Debenture 1,00,000 | Stock 90,000
Sundry Creditors 28,000 | Sundry Debitors| 21,000
Bills payable 12,000 | Cash 5,000

Preliminary Exp 4,000

5,75,000 5,75,000
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Total sales Rs. 4,00,000, 20% of which is made
on credit. Gross Profit and Net Profit (after tax)

Rs. 80,000 and Rs. 20,000 respectively.
Calculate :

(i) Proprietory Ratio

(ii) Debt Equity Ratio

(ili) Capital Gearing Ratio
(iv) Gross Profit Ratio

(v) Net Profit Ratio

(vi) Stock Turnover Ratio
(vii) Debtors Turnover Ratio

(viii) Fixed Asset Turnover Ratio
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6. Answer any one question : 15%1
(a) The following are the Balance Sheet of Star

& Co Ltd.
Liabilities 2005 2006 |Assets 2005 2006
Amount | Amount Amount | Amount
Equity Share | 40.000| 55,000 |Goodwil 7,000 | 5,000
General Reserve| 5,000 8,000 [Land &
Building 15,0001 20,000
P/L AIC 6,000| 5,000 |Plant &
Mechinary | 18,000 | 45,000
7% Debenture 10,000 20,000 |Stock 21,000 | 23,000
Sundry Creditors 9,000| 14,000 |Debtors 8,000 7,000
Bills payable 3,000| 5,000 |Bills
Recivebles 5,000 8,000
Unclaimed divident 1,000 500 |Cash 5,000 6,000
Provision for tax | 5,000 7.500 {Discocent
on Issue of
Debenture - 1,000
79,000 11,15,000 79,000 |1,15,000

Other information :

(1} Depreciation written off during the year 2005
on Land & Building and Plant & machinery
were Rs. 5,000 & Rs. 6,000 respectively.

(2) The company purchased the following assets
of A & Co Ltd. Plant & Machinery Rs. 10,000,
Stock Rs.5,000 and Goodwill Rs. 5,000 and
paid the purchase consideration.
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(3) Interim Dividend paid during the year
Rs. 15,000

(4) Debenture was issued at a discount of
Rs. 2,000

(5) Income Tax paid in 2006 Rs. 6,000.

(6) In 2005 stock was valued at cost less 25%.
This should be taken in actual cost.
Prepare Fund flow statement.

(b) (i) Whatdo you mean by Master budget?
what are its difference with functional
budgets?

(i) followings are the informations of a
company during 2015-16, Prepare ™
production budget and selling overhead

budget. 6+(3+6)
Direct material Rs. 1,80,000
Direct Labour Rs. 1,72,000

Factory Overhead @ Rs. 2
per labour hours

Indirect wages Rs. 31,000

Sales commission Rs. 20,000 .
Advertisement Rs. 3,000

Sales salaries Rs. 10,000

Travelling Expenses Rs. 5,000
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(¢) (i) Whatis Liquidity & Profitability tangle?

(i) From the following particulars prepare
a working Capital Requirement forecast

and for cost of Profit & Loss Account

and Balance Sheet.

Paid up Capital Rs. 3,00,000
6% Debenture Rs. 60,000
Fixed assets Rs. 2,25,000

Production during the year is estimated at
Rs. 60,000 units. The expected ratios of

cost to selling price are.

raw meterial 60%), direct wages 10%

overhead 20%

Raw materials are expected to remain in
stores for an average of two month before

issue to production. Each unit of production

is expected to be in process for one month.
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Time lag in wage payment is one month.
Finished good will stay in warehouse for
three months before sale. Credit is allowed
by creditors for two months and credit is
allowed to debtors for three months. Selling
price is Rs. 5 per unit. There is a regular

production flow. 5+10

(Internal Assessment - 10 Marks )
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Balance Sheet as on
31.3.2014 & 31.3.2015
Liabilities 2014 | 2015 | Assets 2014 | 2015
Equity share | 8,400 | 8.400 | Fixed Assets | 5400 | 7,220
Capital
Profit &
Loss A/C 4,400 | 6,300 | Stock 2,940 | 3,480
Sundry Sundry
Creditors 1,960 2,100 | Debtors 2,580 | 2,400
QOutstanding Cash 4,500 | 3,820
liabilities Prepaid Rent 180 300
Wages 180 | 240
Miscelleneous
Exp. 660 180
15,600 [17,220 15,600 (17,220
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Liabilities Amount | Assets Amount
6% preference share |1,50,000 | Goodwill 20,000
Equity Share Capital [2,50,000 | Land & Building |2,50,000
General Reserve 20,000 { Machinery 1,75,000
Profit & Loss Account{ 15,000 | Furniture 10,000
5% Debenture 1,00,000 | Stock 90,000
Sundry Creditors 28,000 | Sundry Debitors| 21,000
Bills payable 12,000 | Cash 5,000
Preliminary Exp 4,000

5,75,000 5,75,000

IS @@y 4,00,000 (TF 20% 4103 =) (1T &S ¢
5 =% (g #19) 80,000 @3k 20,000 TGN |

(i) Proprietory Ratio
(ii) Debt-Equity Ratio
(iii) Capital Growing Ratio

(iv) Gross Profit Ratio
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(v) Net Profit Ratio

(vi) Stock Turnover Ratio

(vii) Debtorss Turnover Ratio

(viii) Fixed Asset Turnover Ratio.

6. (T GFI> AT TEF AE - 15x1
(&) s apeem |60 Star & Co. Lid @9
Liabilities 2005 2006 | Assets 2005 2006
Amount | Amount Amount | Amount
Equity Share 40,000 ] 55,000 | Goodwill 7,000 5,000
General Reserve 5,000 8,000 [Land &
Building 15,000 | 20,000
PiL A/C 6,000 5,000 [ Plant &
Mechinary | 18,000 45,000
7% Debenture | 10,000 | 20,000 | Stock 21,000 23,000
Sundry Creditors | 9,000 | 14,000 { Debtors 8,000 7,000
Bills payable 3,000 5,000 | Bills
Recivebles | 5,000 8,000
Unclaimed divident| 1,000 500 | Cash 5,000 6,000
Provision fortax| 5000| 7,500 | Discocent
on Issue of
Deberture - 1,000
79,000 {1,15,000 79,000 1,15101_)0],
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Direct material Rs. 1,80,000

Direct Labour Rs. 1,72,000

Factory Overhead @ Rs. 2 per labour hours
Indirect wages Rs. 31,000

Sales commission  Rs. 20,000

Advertisement Rs. 3,000

Sales salaries Rs. 10,000

Travelling Expenses Rs. 5,000

(o) (i) O ¢ el (ww e
(i) Tsfie o2y (e vaife Jorem «3 ararealy
SR ¢ TH© A9 GRS Foed TN
ey 7
Paid up Capital Rs. 3,00,000
6% Debenture Rs.” 60,000

Fixed assets Rs. 2,25,000

THLT Teoad 41 20A0E 60,000 @ | Cost to
Selling price S7fo 47 RLACR ¢
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